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BRE 7 BRER
timE  |EEFR 2,845,473 400 14.1 86| 30 29 1.0 6 6 14 2 of 25 4 6 22 14 11 7
i~ LR |FEEERT | 1,941,832 326| 16.8 100[ 5.1 76| 3.9 5 18 0 0 2[ 79 o 15 78 68 12 12
e B3} % 268,617 15| 56 of o0 of 00 0 0 0 0 0 0 0 0 2 1 0 0
BT iz 345,288 28| 8.1 15 43 11 03 0 0 0 3 0 2 0 1 0 0 0 0
FAE (MEFR 809,521 137| 169 43 53 24 30 1 0 4 4 0 16 2 7 15 10 7 3
AR |FHT % 293,066 42| 143 2 07 1 03 1 0 0 0 0 1 1 0 0 0 0 0
J\F T i 235,878 35| 148 13| 55 6| 25 0 0 0 0 0 7 1 5 4 4 2 2
sz EFE |(MEFR 995,364 150| 15.1 38 38 17| 17 0 0 4 1 0 18 1 7 20 9 14 10
e AT i 294,106 26| 88 51 1.7 5[ 17 2 0 0 1 0 5 2 5 7 5 5 5
- EHE |EEFR 1,267,963 215 17.0 83| 65 33 26 3 0 0 1 of 29 3 2 15 11 2 1
= (=g EEH™ 1,056,503 287 272 137] 130 22| 2.1 2 10 0 5 0 7 1 4 16 14 1 1
AER MEAR  (HEFE 725911 100| 138 20| 28 10 14 0 0 0 4 0 7 2 2 0 0 2 1
T |mw % 317,104 36| 11.4 9| 28 3 09 0 0 0 0 0 3 1 1 1 0 0 0
Iz R iz R ZBE T IR 1,129,560 159| 141 38| 34 20 1.8 3 0 1 0 0 18 5 5 18 12 3 2
BER |HMEFE 1,294,472 205 15.8 43| 33 28| 22 8 4 2 0 of 25 4 15 15 9 3 2
‘5% |BLh % 327,307 64| 196 2 06 2 06 0 0 0 0 0 2 0 2 4 3 0 0
WheEm |H#&h 331,920 24| 72 3[ 09 3 09 2 0 0 0 0 3 1 3 3 3 0 0
ZWE |ZEER  |HEFE 2,970,231 224 75 29 10 25 08 15 0 2 0 of 24 0 5 23 15 15 9
AR N B8 FF IR 1,477,044 139 94 26| 18 17 12 1 0 4 0 0 18 0 12 14 7 2 1
T |emEt b 521,820 54/ 103 22| 42 13| 25 1 0 0 2 1 14 1 9 4 4 0 0
HEE (MaEFR 1,290,463 90| 70 14 1.1 8| 06 5 0 0 0 0 5 0 3 13 7 2 1
HER |a14ET™ % 339,366 61| 180 20[ 59 10 29 0 0 1 0 1 11 0 7 5 3 0 0
=T R e 74 ] 375,491 411 1009 14| 37 8| 21 2 0 0 0 0 9 0 7 3 0 0 0
BER BB FFIE 5,366,149 771 144 208 39 106] 2.0 20 1 21 6 0 99 26 60 84 54 48 29
R SLVFET |[FEEHRT 1,270,476 104| 82 28| 22 18] 14 1 1 2 0 of 26 0 13 20 19 5 5
g iz 350,223 58| 16.6 28| 80 17| 49 0 0 10 0 0 17 1 6 9 9 0 0
Hma™ P 336,565 24| 741 10 30 3l 09 2 0 2 0 0 7 1 4 6 0 0 0
FER |BEMR 4,265,665 570 13.4 171 40 89| 21 9 2 43 9 of 102 12| 22 56 40 28 19
=g FEm  |fEEEH 964,424 93| 96 39 40 14 15 7 1 10 6 of 10 2| 11 9 9 6 6
=T fintsth iz 626,809 58| 9.3 1 02 1| 02 0 0 0 0 0 1 1 1 4 0 0 0
T i 409,001 48| 117 8| 20 5 12 0 0 1 4 0 4 0 2 0 0 2 1
N Rm#Ed  |ERERTIR | 12,852,554 1,913 149 578| 45 385/ 30| 66| 126/ 85 49 0| 290 5 148 244 199 38 31
R INEFH | 562,795 106 188 16 28 9 16 2 0 5 2 0 15 0 4 13 11 1 0
AR (FHEFFE 2,815,719 315 112 39| 14 23| 08 3 0 5 5 of 28 2 17 29 21 6 2
BEM  [fEEH™ 3,729,357 491 132 230 6.2 125| 34 3 7 41 2 2| 103 2| 66 54 54 7 7
MEJNE (JIgH |fEEETH 1,459,768 230 158 73| 50 42 29 3| 40 0 0 of 44 0 5 46 27 3 3
HERT (fEEH™ 716,643 262| 36.6 24/ 33 19 27 4 0 0 7 2 17 0 15 10 10 4 4
AT |P&T 414,664 101| 244 14| 34 2 05 0 0 14 0 0 2 0 2 2 2 0 0
o Frial FERTIR 1,516,499 149 98 44 29 19 1.3 1 0 12 10 0 17 3 13 16 12 13 9
- imm  [fEEHE™ 802,936 78 97 52 65 20 25 3 9 0 2 of 25 1 24 4 4 0 0
IIZR IR | HEFE 849,784 83| 98 20 24 13| 15 4 2 3 0 0 7 2 6 17 12 5 5
snR RHR B E T IR 1,754,154 231 132 114 65 58 3.3 2 2 18 2 0 60 13 24 54 36 11 9
o REFM P 383,512 23| 60 14 37 7l 18 1 1 1 0 0 9 1 5 11 10 0 0
- SR  |EEFR 661,037 35 53 71 11 6| 09 0 0 0 2 0 7 1 3 2 2 0 0
mHR Emh % 419,123 13| 3.1 2| 05 1| 02 0 0 0 0 0 1 1 0 0 0 0 0
— ANE  |EEFR 702,686 66| 9.4 16| 23 8 1.1 2 0 0 1 0 14 9 3 4 2 0 0
- &R iz 454,356 55| 12.1 6| 13 3 07 2 0 0 0 0 6 3 4 3 3 0 0
BHE |[BHE |HEFE 799,220 82| 103 15 19 gl 10 0 3 0 1 0 8 2 2 5 3 1 1
G IkEBE  |EEFR 1,662,200 159 96 65 3.9 [ 18 3 1 21 3 of 35 4 7 24 14 6 3
N Iz BB 77 iz 413,995 40 97 4 10 2 05 1 0 0 0 0 2 0 1 2 2 1 0
BEE  |HMEFE 2,249,408 291 129 53| 24 35 16 10 8 7 6 of 32 9 14 43 23 11 8
BEE  |(#ET |fEE#TH 712,184 88| 124 20 28 1| 15 2 2 0 1 of 11 0 6 4 4 0 0
ENT™ IEEH™ 809,027 101 125 14 17 4/ 05 1 0 0 1 0 4 0 1 13 3 0 0
BME  |EEMFR 4,056,352 407| 100 71 18 35 09 13 1 9 0 of 26 2 19 34 21 8 3
&HEm |FEE#H;H 2,269,444 399 176 41 18 3| 14 3 17 0 0 of 37 of 13 39 30 12 9
ZHIE SHM b 422,571 33 718 9 21 4 09 0 0 5 0 0 4 0 0 1 1 0 0
2 it i 378,485 78| 206 8 2.1 8| 21 0 2 0 0 0 8 0 7 3 3 0 0
fe] g 7 % 382,784 73| 19.1 13| 34 71 18 5 0 0 5 0 5 1 3 4 3 0 0
=ER =ER #B3E FF 2 1,850,028 281 152 39| 2.1 15| 08 4 0 13 1 0 13 6 13 15 8 5 2
aem  |BER (| ENERR 1,077,429 146| 13.6 46| 43 19 18 3 2| 21 2 o 26 6] 16 6 4 1 1
RER K % 342,434 44| 128 24 70 14 41 0 0 0 0 of 12 1 9 3 3 0 0
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&5y R & 5
. WA |EBEFR | 1,155293 142 123 46| 4.0 9| 08 2 4 4 12 o 13 2 2 14 11 1 1
A WERT  [IEEH™ 1,419,549 68| 48 18] 13 5/ 04 of 10 0 1 0 5 1 2 7 7 0 0
KBRRF  |EBEFFR 3,676,956 554 15.1 126| 34 53] 14 11 13 9 5 3| 36| 24| 24 67 45 10 8
K |FEEHH 2,681,555 1,431| 534 922| 34.4 85| 32 5 767 11 3 1 59| 25| 61 54 30 9 7
R tEEART 845,960 172[ 203 21 25 12| 14 2 0 0 0 of 14 2 7 9 9 0 0
KB AT Brhm hi 403,030 125 31.0 49 122 17| 42 0 0 0 8 0 26 2 2 8 6 4 2
=Y % 355,209 68| 19.1 12 34 8| 23 0 2 0 0 0 3 2 7 8 8 1 0
RAWR | 496,659 71| 143 21 42 71 14 2 1 5 1 of 13 2 4 2 2 2 2
WA thixh 406,133 61| 150 13| 32 1l 27 0 2 0 0 of 11 of 11 4 4 1 1
EER B8 FFIE 2,582,908 313 121 53| 2.1 32| 12 8 6 0 8 1 28 6 16 27 21 9 6
AT (fEEHE™ 1,547,850 225 145 60| 39 271 17 11 15 11 5 of 24 2| 21 33 23 3 2
EER  [ERT b 541,497 47| 87 14 26 11 20| 0 4 0 0 0 11 0 6 11 11 2 2
AEm % 484,892 34| 70 6| 12 5 10} 1 0 0 3 0 4 0 3 1 1 0 0
JE g iz 463,940 63| 136 9l 1.9 6| 13 2 0 0 1 1 8 0 5 12 7 1 1
. =RE B8 FF IR 1,025,744 121 118 42| 41 23| 22 6 0 4 2 0 29 8 11 9 7 2 2
=RM % 362,074 62| 17.1 20| 55 71 19 0 0 0 3 0 5 0 4 1 1 1 1
— MR (FHEFFE 619,048 79| 128 15 24 5/ 08 1 0 3 0 1 2 8 0 4 2 3 2
AW |(PET 375,269 23| 6.1 2 05 2 05 0 0 0 0 0 2 0 2 0 0 0 0
SHE SWE |EEFR 579,309 72| 124 32| 55 16| 238 2 0 4 2 2 8 5 11 1 1 0 0
ERE ERE |#HEFER 701,394 95 135 23 33 71 10| 0 3 7 1 0 6 3 2 3 0 1 0
e LR B8 FF IR 742,196 80| 1038 15 20 8 1.1 0 0 3 0 0 9 0 5 7 5 5 2
fifl LR L IEE#RT™H 707,615 97| 137 50[ 7.4 17| 24 1 11 5 0 1 19 1 10 11 8 0 0
BHm i 483,970 106 21.9 53 11,0 30| 62 1 4 5 4 1 13 of 18 13 11 2 2
LEBE |[HMEFMFE 967,282 138| 143 19 20 9 09 2 1 3 0 0 10 2 2 13 4 4 2
. Le™  |[{EE#HH 1,191,030 180 15.1 66| 55 26| 22 2 18 8 1 of 28 2 3 13 10 2 2
aEE 8 % 232,925 95 408 2| 09 of o0 0 0 0 1 0 1 0 1 0 0 0 0
&Ll i 471,974 56| 11.9 4 o8 2 04 1 0 0 0 0 0 1 4 6 6 2 2
Loe (I myl=} B E T IR 1,147,421 152| 132 35| 3.1 17| 15 1 7 5 1 1 12 7 12 14 12 7 5
T e % 272,360 46| 16.9 11 04 of o0 0 0 1 0 0 0 1 0 1 0 0 0
EEE |EER |#HEFE 770,057 73 95 34| 44 9l 12 0 0 13 2 0 17 3 3 9 9 4 4
__— FNE  |MEFR 572,722 55 9.6 14| 24 4 07 0 0 5 0 0 1 2 1 1 1 7 3
=1 N % 429,451 36| 84 5] 12 3l 07 0 0 0 0 0 3 0 3 2 2 0 0
— BIRE  |EEMFR 898,940 93| 103 12 13 9l 10| 0 0 1 0 0 6 4 6 4 0 3 0
. NI i 517,057 80| 155 14| 27 9 17 0 0 0 0 0 9 7 9 12 11 1 0
. aHME  (HMEFRE 404,007 116 287 4 10 2[ 05 0 0 1 0 0 2 0 0 8 1 2 0
T =%k R 336,052 56| 16.7 16| 48 40 12 1 1 0 0 1 3 2 0 4 4 4 4
BEE  (HEFFE 2,343,185 450 19.2 11| 47 44| 19 5 of 67 3 of 32 11 14 47 16 15 12
— 12 fE T teEERT 1,500,955 174 116 64| 43 21 14 6 45 0 0 0 21 2 0 12 9 3 3
e kAT |FEEHET 971,608 130[ 134 42 43 24| 25 5 6 22 0 0 5 1 14 11 6 8 5
ABKT |HEH 306,700 57| 186 44| 143 20 65 0 of 3t 0 0 14 1 22 12 11 1 1
EER  |RER |HEFE 842,457 90| 107 42| 50 13| 15 1 0 15 0 2 15 3 9 16 7 12 6
RIFE  |#EFE 710,112 158| 223 70 99 26| 3.7 7 0 9 8 0 17 1 8 9 9 3 2
RIER |R&BH i 435,525 52 11.9 6| 14 5[ 1.1 2 0 0 0 0 5 0 4 17 12 0 0
£ T (hE™ 258,466 59 2258 71 27 2 o8 0 0 0 0 0 0 1 2 4 4 1 1
R BERAER  |EEFR 1,075,109 181 168 55 5.1 15| 14 1 2 39 3 0 14 1 6 18 14 4 4
REAT™  |FEEHH 735,234 40| 54 28| 38 9f 12 0 6 3 4 0 8 1 3 5 4 0 0
N N B8 FF IR 704,621 123 175 11 16 4/ 06 0 0 2 0 0 4 1 0 5 0 5 2
o Ko b 479,340 69| 144 4 o8 2| o4 2 0 2 0 0 2 2 2 3 1 0 0
- =GR #BE FFIE 722,397 62| 86 17| 24 12 17 2 0 0 0 0 10 1 7 11 9 6 4
= =™ % 405,681 67| 165 12 30 8| 20| 5 0 0 1 0 9 2 5 1 1 2 2
ERER BERESR (MEMFRE 1,072,120 171 159 32 30 15| 14 1 3 12 7 0 18 4 5 8 2 4 2
BRE ™ 607,382 43 71 6| 1.0 6| 1.0] 0 0 0 0 0 0 0 1 4 4 0 0
— R | MERFE 1,137,062 203 17.9 80| 70 49| 43 14 15 7 9 1 45 12| 31 46 35 20 18
o AZh iz 324,169 80| 247 38| 117 30 93 8 8 0 0 0 27 2 11 13 11 2 1
&t 128,066,211 18451 144 5443 43 2379 19| 358| 1,284 698 249 24| 2,148 316| 1,114 1,810 1,292 482 340
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